
ቊ
3𝑥 + 𝑦 = 5     
2𝑥 − 5𝑦 = 9   

ቊ
𝑥 − 2𝑦 + 3 = 0     
2𝑥 − 4𝑦 + 2 = 0   

ቊ
3𝑥 + 𝑦 = 5     
2𝑥 − 5𝑦 = 9   

 ቊ
2𝑥 + 𝑦 − 7 = 0     
−4𝑥 − 2𝑦 = −14   

  

ቊ
2𝑥 + 𝑦 = 3     

3𝑥 − 2𝑦 − 2 = 0   
ቊ

𝑥 + 2𝑦 = 1     
−𝑥 + 4𝑦 = 3   

 ቊ
−3𝑥 + 2𝑦 = 1     

6𝑥 − 4𝑦 + 5 = 0   

ቐ
𝑦 =

ଵ

ଶ
𝑥 + 2

𝑦 = −3𝑥 + 2   
ቐ

𝑦 = −
ଶ

ଷ
𝑥 −

ଵ

ଷ

𝑦 + 3𝑥 = 2   
 ቊ

2𝑦 − 𝑥 = 2   
3𝑦 + 2𝑥 = −1   

൝
𝑥 2

 
+ 𝑦 = 1     

3𝑥 + 𝑦 2
 

= 0   
൞

ଶ

ଷ
𝑥 −

ଷ

ଶ
𝑦 = 6     

ଵ

ଽ
𝑥 −

ଵ

ସ
𝑦 = −1   

 ቊ
0,11𝑥 − 0,03𝑦 = 0,25     
0,12𝑥 + 0,05𝑦 = 0,70   
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𝑦 =
1

2
𝑥 + 2

𝑦 = −
2

3
𝑥 −

1

3

𝑦 = −3𝑥 + 2



ቊ
−𝑥 + 3𝑦 = 3     

2𝑥 − 𝑦 = 4   

ቐ
𝑦 =

ଵ

ଷ
𝑥 + 1

𝑦 = 2𝑥 − 4

𝑦 =
ଵ

ଷ
𝑥 + 1 𝑦 = 2𝑥 − 4

ቊ
−3𝑥 − 2𝑦 = −3     
6𝑥 + 4𝑦 + 1 = 0   

ቊ
3𝑥 + 𝑦 − 1 = 0     
6𝑥 + 2𝑦 − 2 = 0   

 ቊ
−𝑥 + 𝑦 + 3 = 0     
2𝑥 − 𝑦 − 4 = 0   

ቊ
𝑥 + 𝑦 = 186 
𝑥 − 2𝑦 = 0   
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